
่ᄬԄ໸چೱ่ި౻ިሽፓ᏾٣ҹᇥ่ܴᄬԄ໸چೱ่ި౻ިሽፓ᏾٣ҹᇥ่ܴᄬԄ໸چೱ่ި౻ިሽፓ᏾٣ҹᇥ่ܴᄬԄ໸چೱ่ި౻ިሽፓ᏾٣ҹᇥܴ 

    

���� ި౻Ӝᆀި౻Ӝᆀި౻Ӝᆀި౻Ӝᆀ----୯ৎႝΚٮᔈϦљ୯ৎႝΚٮᔈϦљ୯ৎႝΚٮᔈϦљ୯ৎႝΚٮᔈϦљ/ National Grid Transco PLC (൹റжዸ൹റжዸ൹റжዸ൹റжዸ: NGT/ LN) 
୯ৎႝΚٮᔈϦљ*ܭ 2005 ԃ 8 Д 1 ВаΠӈచҹ߇ᗋၗҁаϷ᏾ӝǶ 

 

   -а 43 ިཥޑ୯ৎႝΚٮᔈϦљި౻ඤ 49 ިᙑޑ୯ৎႝΚٮᔈϦљި౻ 

   -а 1 ި B ިඤ 1 ި୯ৎႝΚٮᔈϦљި౻ 

 

୯ৎႝΚٮᔈϦљܭ 2010 ԃ 5 Д 26 В࠹թ຾Չ౜ߎቚၗǶިሽፓ᏾Кࣁुٯ 0.8992Ƕ 

 

ၗሌՉஒ୯ৎႝΚ׫ሽॶǴࠔᑼ୘ߎ܄ၗౢϐ़ғޑ኱ࣁ౻а၀ިډϸᔈ΢ॊ٣ҹೱ஥ቹៜࣁ

ӕਔǴԾޑόᡂ࡭Вሽ਱ᆢۈၗଆ׫ޑᔈϦљٮ 2005 ԃ 8 Д 1 Вଆஒჹ୯ৎႝΚٮᔈϦљϐ

ިሽ຾Չፓ᏾Ƕ 

 

*୯ৎႝΚٮᔈϦљܭ 2005 ԃ 7 Д 27 Вׯ׳Ӝᆀࣁ National Grid PLC (൹റжዸǺNG/ LN)Ƕ 

    

���� ިሽፓ᏾ϦԄӵΠިሽፓ᏾ϦԄӵΠިሽፓ᏾ϦԄӵΠިሽፓ᏾ϦԄӵΠ 
P ፓ᏾ࡕፓ᏾ࡕፓ᏾ࡕፓ᏾ࡕ = P ፓ᏾߻ፓ᏾߻ፓ᏾߻ፓ᏾߻ /ިሽፓ᏾Кިٯሽፓ᏾Кިٯሽፓ᏾Кިٯሽፓ᏾Кٯ 1/ިሽፓ᏾Кިٯሽፓ᏾Кިٯሽፓ᏾Кިٯሽፓ᏾Кٯ 2  

ިሽፓ᏾Кٯ 1= [ (୯ৎႝΚٮᔈϦљ 2005/7/29 ϐިሽ-୯ৎႝΚٮᔈϦљ B ި 2005/7/29 ϐ

ިሽ) * ( 49/43 ) ] /୯ৎႝΚٮᔈϦљ 2005/7/29 ϐިሽ 

= [ (524 – 65) * (49/43) ] / 524 

           = 0.99818 

 

ިሽፓ᏾Кٯ 2=౜ߎቚၗКٯ 0.8992 

 

а΢Ǵ 

P ፓ᏾ࡕ = ୯ৎႝΚٮᔈϦљፓ᏾ިࡕሽǴ 

P ፓ᏾߻ = ୯ৎႝΚٮᔈϦљፓ᏾ި߻ሽ 

 

���� ीᆉጄٯीᆉጄٯीᆉጄٯीᆉጄٯ 
่ᄬԄ໸چӜᆀǺύ୯Γტᇸ᚞ठ൤ѹࠠಃϤය 8 ԃය 

໸چวՉВǺ2004 ԃ 4 Д 16 В 

ᢀჸВǺ2012 ԃ 4 Д 5 В 

୯ৎႝΚٮᔈϦљܭᢀჸВϐިሽ= 634.5 

 

Ծ 2005 ԃ 8 Д 1 ВଆǴ၀่ᄬԄ໸܌چೱ่ϐ୯ৎႝΚٮᔈϦљፓ᏾ިࡕሽࣁǺ 

P ፓ᏾ࡕፓ᏾ࡕፓ᏾ࡕፓ᏾ࡕ = P ፓ᏾߻ፓ᏾߻ፓ᏾߻ፓ᏾߻ /ިިިިሽፓ᏾Кٯሽፓ᏾Кٯሽፓ᏾Кٯሽፓ᏾Кٯ 1/ިሽፓ᏾Кިٯሽፓ᏾Кިٯሽፓ᏾Кިٯሽፓ᏾Кٯ 2  = 634.5 / 0.99818 / 0.8992 = 706.913807 


